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DIPLOMA IN PRODUCTION OF VALUE 
ADDED PRODUCTS FROM CEREALS, PULSES 

AND OILSEEDS (DPVCPO) 

Term-End Examination 

December, 2016 

BPVI-031 : FOOD FUNDAMENTAL 

Time : 2 hours 	 Maximum Marks : 50 

Note: Attempt any five questions. All the questions carry equal 
marks. 

1. 	Fill in the blanks in any five of the following 
statements : 	 5x2=10 

(a) In the air oxygen is 	 % while 
CO2  is 	%. 

(b) The two field requirements for mechanical 
harvesting are that the field must be 

and 	 at the time of 

D 
	 harvesting. 

4.) 

	 (c) For best results the modified atmosphere 
must be supplemented with proper 
	 and 	 

(d) The two operational factors affecting the 
performance of harvesting machine are 
  and  
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(e) For grain storage in the modified 
atmosphere the oxygen shall be brought to 
 % while the CO2  must be 
brought to 	% or higher. 

Two examples of serrated sickle are 
	 sickle and 	 sickle. 

In the pneumatic conveyor the grains are 
carried in pipeline either by 	 or 
	flow system. 

The two problems with manual harvesting 
are 	  availability 	and 
	 during peak season. 

A screw conveyor requires relatively 
	 and is more susceptable to 
	 than other conveyors. 

The diggers are used to harvest 	 
and 	 

While selecting a machine for the cleaning 	5 
operation which points must be 
considered ? 

How post-harvest management is helpful in 
	5 

generating employment ? 

3. 	Select the correct answer from the given options : 
10x1=10 

(a) The dimensional equation for acceleration 
is 	 

Distance / time 

Mass x velocity 

Force x distance 

None of the above 
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(b) The unit of Energy : 

(i) Pascal 

(ii) kcal 

(iii) Newton 

(iv) Joule 

(c) The dimensional equation for velocity is : 

(i) Mass x acceleration 

(ii) Force x time 

(iii) Distance x time 

(iv) None of the above 

(d) 1 g of fat gives : 

(i) 4 kcal 

(ii) 7 kcal 

(iii) 9 kcal 

(iv) None of the above 

(e) Out of the following which is not the 
essential amino acid ? 

(i) 	Serine 

Leucine 

Isoleucine 

(iv) Tryptophane 

(f) Pellagra is the disease caused by the 
deficiency of : 

(i) Niacin 

(ii) Riboflavin 

(iii) Folic acid 

(iv) Pyridoxine 
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(g) Retinol is the name of which of the following 
vitamin ? 

(i) Vitamin C 

(ii) Vitamin A 

(iii) Riboflavin 

(iv) Tocopherol 

(h) In wheat grain the maximum energy is 
present in : 

(i) 	Bran 

(ii) Endosperm 

(iii) Germ 

(iv) All the above 

(i) 
	

In which of the gear teeths are cut on the 
conical surface ? 

(i) Worm gear 

(ii) Helical gear 

(iii) Bevel gear 

(iv) Spur gear 

(j)   is the process of heating the 
material above the recrystalization 
temperature and holding the material 
stabilize at that temperature. 

(i) Hardening 

(ii) Annealing 

(iii) Normalizing 

(iv) Tempering 
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4. 	Write short notes on any five of the following : 

(a) Food Adulteration 

(b) HACCP 

(c) Modified atmospheric packaging 

(d) Antinutritional factors 

(e) Food groups 

(f) Microwave heating 

5x2=10 

5. (a) Under PFA Rules, 1955 what information 
is required to be printed on food package ? 

(b) List the different package systems for 	5 
enhancing the shelf life of food. 

6. (a) What is the nutritional significance of fat 
and protein. 

(b) List the eight essential amino acids and 
explain why these are essential ? 

7. (a) Discuss the factors which helps maintain 	5 
hygiene and sanitation. 

(b) What do you understand by edible 	5 
packaging material ? Give examples of 
edible films. 

8. (a) Write the physical characteristics used to 	5 
assess the quality of a processed food. 

(b) What are the causes of food Deterioration ? 	5 

5 

5 

5 
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(e) 4ior 	ci aRitatui 	arimt 	 (grain) 

aff-4.wi 	% 

	

3h CO2  i 	% zir 

(f) •qr-t. 	 dciwrt 

	 q4cil 3 	c(id) 

(g) ctict) 4 q141 (grains) 	4W4c-11“ 4 
	Treff 14 A.  

A H41 .1 1(14 1 

(h) TP-1T 	T 	TFTP-T 

	  -1:r-ower-d-r 3th iiTql7 Thi-14 

49.  qr-6- 

 

(i) `rig ait-Twd 	 ∎71 	 

	  X11 $iT 

aiw:f 	 TW*--1 qiN 
(gcRi 	.49T 	 t1 

(j) fg717 	iT 	37fl 7T 	  

	 41flri 	 rc,R ictqf Aim 
*1 

2. 	(a) 	 (cleaning) qr( -cilril * 	 Tit47 	5 
TITRT, Phi Fcipff 	'-zirff 4 kegli 

gfti.1 @tilt? 

(b) 
	

di-RICI 31449. 	-id chk44tt 	5 
gldl t? 
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3. ZErFaT fq* "AlT# 3r1( r4q-r ce : 	10x1=10 

(a) caul 	f ii aTFi 	 t 	 

(i) z1 / (-1 4-1q 

(ii) oe.1 4-11-1 X 4TT 

(iii) cid X 

(iv) 39 -4ff -14 A 

(b) do-II (Energy) 	t 	 

(i) 4 ft14) (1  

(ii) fw-ol 

(iv) 	 

(c) 	t i 3Trzrr41 	cbkur t 	 

(i) 	oe.14-11-rxcci(ui 

(iii) 	x TITPT 

(iv) UtPIWT A 

(d) 	-5114 cRil 	 t : 

(i) 4 f*---A 

(ii) 7 fw-A ko-111 

(iii) 9 fWA 

(iv) 374-0 -4 	‘411-  
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(e) P-1 1--10(5cfgAct)l -Trrafigr47PitaT7-41.  
? 

(i) 	( 

37-01-$rff 

(iv).cLd 	 

(f) tOPIT, f*1:1W1 ctoi tr4 	 

(i) 

(ii) 1'tal4rlfa ~ 

4.)Ticicb 3T1t 

(iv) -4i 4t 	 

(g) 	(rend iqd1 	9111 t? 

(i) 

radtriii 7 

(iv) d 	( rf 

(h) 	 dr) ,41?-*-TO favi-u-r $1d1 t? 

(i) 	.4r-*7 () 

-ctTErrf 

• 
(iv) z-Erd-gii fit 

(i) 	411-14 Pleik 	icictichR thi$ 	$ 	 t? 

(i) 	414 
 

Hit 

Pigi 

(iii) 4ii( 

(iv) TER Pig( 
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(j) 	 TIFTffi.    r9t,e,olct,(u, 	 

	

3T i IR 1 c( 	3f 3li 014 411-1 1R ft-271-Fd 

4.)(4t.  re-R TriRt 	(a 	Trrwzri 

(i) cbd 	 

(ii) 

(iii) -114-11-41 ,:bor 

(iv) tER-ITI 

4. 744q 6-6'1 tek 	fffruR : 

(a) Nisi 3TifTmui 	 

(b) tt (HACCP) 

(c) 4 tafcicr a141sCi1trTr 

(d) 51 `d41 4Iuich c4 e4) 

(e) l5ilr illy 

(f) 	of iire:+r 

5x2=10 

5. (a) 	ift.7:F.-R. Piql-f, 1955 	aleaTi-d 	1:17 	5 

	

 	17fff ota 61-if :11t41 *? 

(b) 1NTET 1:g1.4 	fff9T91.  1-49 -1r4 	 5 

"efk 1T-SWI 	ler czPill 

6. (a) alit 	31)ti 	Li 	4 UN) 	err t? 	5 

(b) alTU airiar4 7r-4:rt 3-iwW 	t-ct? 	3t 	5 

	 -FW 	ati-414 t? 
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tamodi 	 ci-N «91411 ti$itich 	5 
Wit-A441 W.-4R I 

Wtr (edible) 7T Trri:rt 	3-111:1 	fTR-0- 	5 
? Niff ft -04* dqi$kuf gir;R I 

tit 	ci oitiic1 11-17-4-ffr-fitthur4 faraltu1u 	5 
itifffW . A.Tul't WuR 
(giv f-4-fiu* chRur .4zrr 	 5 
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